NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE

DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

SEE
ELEVATION

OVER
SUBSTRATE

AT 18" O.C.
(MAX.)

—

SHIM AS
REQUIRED

CONTINUOUS ALONG
BASE OF PANEL

AT 18" O.C.

(MAX.) .2

11/2" WIDE

REVEAL STRIP |

FASTENER DESIGNATIONS

1/2" JT.

SEE
ELEVATION

AT 18" O.C.
(MAX.) < >

CONTINUOUS ALONG
TOP OF PANEL

RAINSCREEN ACM
PANEL SYSTEM

EXTRUSION BEYOND

EXTERIOR SHEATHING
(BY OTHERS)

FRAMING
(BY OTHERS)

AAAAAAA

U
\

-

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬂmﬁﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
)

()
(8)
()
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK DESCRIPTION

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

PORVRIDPODOOOO

2 3/8"

SYSTEM DEPTH

WALL ASSEMBLY

(BY OTHERS)

HORIZONTAL JOINT DETAIL

REF. ARCH. DET. -

EXTERIOR SHEATHING

OVER SUBSTRATE ~ (BY OTHERS)

CONTINUOUS ALONG
BOTTOM OF PANEL

<4%

FRAMING
RAINSCREEN ACM ~ (BY OTHERS)

PANEL SYSTEM

EXTERIOR SHEATHING
(BY OTHERS)

<:> SHIM AS
REQUIRED

{3> CONTINUOUS ALONG
TOP OF PANEL

11/2" WIDE | —
REVEAL STRIP

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLI
—
<C
)
-
<C
—
=
=
m
D)
)
Y
O
LL
=
LL
I_
)
>
)
1
LL
Z
<
al
n =
—)
Ii: <
s
O
N
25 4
P L LI
R
<% 8 |7 |=
— < o =
n k= = L O
O o = [H
Ow o @) -
E 0 ) — I
TR 2|8
MNM << o O <
DRAWN: DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
A\
NO.| REVISION/ISSUE DATE
DWG TITLE
HORIZONTAL JOINT
SCALE DWG NO.
1"=1'-0"

REV D 1




NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE

DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

FRAMING WALL ASSEMBLY
(BY OTHERS) (BY OTHERS)
2 3/8"

OVER @}
SUBSTRATE
AT 18" O.C.
(MAX.)

SHIM AS
REQUIRED

CONTINUOUS ALONG
SIDE OF PANEL

AT 18" O.C.
(MAX.)

— SEE ELEVATION

11/2" WIDE
REVEAL STRIP

1/2"

JT.

VERTICAL JOINT DETAIL

SYSTEM DEPTH

. EXTERIOR SHEATHING
(BY OTHERS)

_ EXTRUSION (BEYOND)

. RAINSCREEN ACM
PANEL SYSTEM

CONTINUOUS ALONG
SIDE OF PANEL

AT 18" O.C.
(MAX.)

REF. ARCH. DET. -

SEE ELEVATION

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬂmﬁﬁfb
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK

DESCRIPTION

POVORDDDPOOOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

OVER SUBSTRATE ¢

EXTERIOR SHEATHING

CONTINUOUS ALONG 74 (BY OTHERS)

SIDE OF PANEL
FRAMING

CONTINUOUS ALONG <4>— (BY OTHERS)
SIDE OF PANEL

SHIM AS REQUIRED <:> ‘A
N
N
N
N
N
‘

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

\.
\.
\.
1
L
11/2" WIDE | . RAINSCREEN ACM
REVEAL STRIP PANEL SYSTEM

ISOMETRIC VIEW

=
L
I_
(0p]
>
(0p)]
1
LLl
prd
<
ol
n =
—)
I<_( <
s
O oy
N
25 4
w L L
EEERE
)]
< &‘: Q Zl | Z
— < o =
n k= = Ll O
O o ==
Ow o @) =
E 0 ) — I
@) dp) @)
w o) r ) X
M << o O <
DRAWN: DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
yAN
NO.| REVISION/ISSUE DATE
DWG TITLE
VERTICAL JOINT
SCALE DWG NO.

1' = 1'_0"

REV D 1




FASTENER DESIGNATIONS

) NOTES:
SYSTEI\?;I’ %EPTH Wf‘B% é?ﬁggg;\( - 1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.
- @ 3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.
CONTINUOUS ALONG
SIDE OF PANEL
THIS DETAIL IS GENERAL IN NATURE
SEE AND WILL BE MODIFIED TO MEET JOB
ELEVATION AT18'0.C. /, SPECIFIC CONDITIONS
(MAX.)
11/2" WIDE
REVEAL STRIP
1/2" JT.
1 |
AT 18" O.C. M S
MAX) “ ALY
CONTINUOUS ALONG
SIDE OF PANEL
SHIM AS REQUIRED
AT18"0.C. / o T
(MAX.) e o
EXTERIOR SHEATHING
(BY OTHERS) "
12" MIN.
EXTRUSION BEYOND
OVER SUBSTRATE |
) Y —
FRAMING E
(BY OTHERS) - H
I e ]
| |
| |
| |
| |
| |
e e S EE _
1 L
FRAMING | OVER SUBSTRATE
(BY OTHERS)
EXTERIOR SHEATHING RAINSCREEN ACM |
(BY OTHERS) PANEL SYSTEM
) 1/2"
- 12" MIN. - SEE ELEVATION -

1 | OUTSIDE CORNER DETAIL

D1 REF. ARCH. DET. -

JT.

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬁkﬁ“\mﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
(+)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK DESCRIPTION

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

POVODDDPODOO

OVER SUBSTRATE

CONTINUOUS ALONG
SIDE OF PANEL

CONTINUOUS ALONG
SIDE OF PANEL

EXTERIOR SHEATHING ~ sHIM AS REQUIRED
(BY OTHERS)

T 1T

FRAMING
(BY OTHERS)

RAINSCREEN ACM 11/2" WIDE |
PANEL SYSTEM REVEAL STRIP

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLI
—
<C
)
-
<C
—
=
=
m
D)
)
Y
O
LL
=
LL
I_
)
>
)
1
LL
Z
<
al
n =
—)
Ii: <
s
O
N
25 4
P L LI
IR R
< EE Q = pa
— < o =
n k= = L O
O o = ([E
O uo @) -
E 0 ) — I
0 g 2|8
M << o O <
DRAWN: DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
A
NO.| REVISION/ISSUE DATE
DWG TITLE
OUTSIDE CORNER
SCALE DWG NO.
1"=1'-0"
REV D1




WALL ASSEMBLY %

(BY OTHERS)
(£>
=
=
=
<é>
=
=
= |
2 3/8"
SYSTEM DEPTH
e I T S IR
r————= 7
RAINSCREEN ACM J FRAMING | 1/2" JT. - | |
PANEL SYSTEM (BY OTHERS) | |
| |
EXTERIOR SHEATHING 1 1/2" WIDE | |
EXTRUSION BEYOND — (BY OTHERS) REVEAL STRIP } }
OVER <6} } }
SUBSTRATE | |
AT 18" O.C. | |
(MAX.) @ } }
SHIM AS <:> } }
REQUIRED | |
CONTINUOUS ALONG <3% | |
SIDE OF PANEL | |
| |
" " ‘ ‘
AT 18" O.C. AT 18" O.C.
(MAX.) <> (MAX.) <> } }
/—@ AT18"0.C. CONTINUOUS ALONG | |
- (MAX.) ™~ SIDE OF PANEL } }
- <> CONTINUOUS ALONG \ \
/ SIDE OF PANEL | |
N RAINSCREEN ACM | |
- CONTINUOUS ALONG PANEL SYSTEM ‘ ‘
/ : SIDE OF PANEL \ | |
/ 4 —
/ =D B—
R :5;’,
/- = \
e D I LSS 0 | S \ 2 3/8"
CLALRAAAANY -
-------- Wiy o \ SYSTEM DEPTH
, C— | 7 SHIM AS
l REQUIRED

CONTINUOUS ALONG

- 1 — —

' 5
/ SIDE OF PANEL

y

WALL ASSEMBLY

INSIDE CORNER DETAIL

/ 1
AT 18" O.C. o

REF. ARCH. DET. -

/2 uax)

AT 18" O.C.

ALTERNATE DETAIL

2/ (MAX))

(BY OTHERS)

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW @]l“\‘m
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW =
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
()
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK

DESCRIPTION

POVVODDPOORO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

NOTES:

1.
2.

3.

SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.

FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.

ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

OVER SUBSTRATE

CONTINUOUS ALONG
SIDE OF PANEL

CONTINUOUS ALONG <4% ~ EXTERIOR SHEATHING
SIDE OF PANEL (BY OTHERS)

SHIM AS REQUIRED o
(BY OTHERS)

<

RAINSCREEN ACM
PANEL SYSTEM

FRAMING

11/2"WIDE |

REVEAL STRIP

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

ISOMETRIC VIEW

=
LLl
I_
0p)
>
0p)
1
LL
Z
<
al
n =
—)
I<_E <
s
T
N
25 4
P L L
B
)]
<E é a) P pr
— < o =
n k= = L @)
O o = Y
Ow o @) =
2 0 ) — I
@) dp) @)
w o ) X
M << o O <
DRAWN DRAWN BY | DATE
CHECKED CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
yAN
NO.| REVISION/ISSUE DATE
DWG TITLE
INSIDE CORNER
SCALE DWG NO.

1' = 1'_0"

REV D 1




NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB

SPECIFIC CONDITIONS

h 21/8" —— =

3"

A
45° 5/8"

v

O/P HEM

DRIP HEM

|
45°
>
5/8"

DRIP CLEAT

2 3/8"

SYSTEM D

EPTH

WALL ASSEMBLY

FASTENER DESIGNATIONS

(BY OTHERS)

EXTERIOR SHEATHING

y

(BY OTHERS)

FRAMING

(BY OTHERS)

EXTRUSION (BEYOND)

RAINSCREEN ACM
PANEL SYSTEM

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW @Wﬁﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW R
@ #10x 3/4" PANCAKE HEAD SCREW
()

(5)
(8)
()
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK

DESCRIPTION

PORVRIDPODOOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE
1/4" PLASTIC HORSESHOE SHIM

AT 24" O.C.
) < :> (MAX.)

!

FLA6101
DRIP HEM WINDOW HEAD
FLASHING (TOP) OVER SUBSTRATE
AT 18"0.C. /,
SEE ELEVATION (MAX.)
- ’ _ AT 18" O.C.
B 6 (MAX.) 3
CONTINUOUS ALONG
BASE OF PANEL
CONTINUOUS ALONG
BASE OF PANEL
DRIP CLEAT FLAG201
WINDOW HEAD
FLASHING (BOTTOM) AT 18"0.C. /',
(MAX.)
1"WIDE
REVEAL STRIP
AT 18" O.C.
8 0.C. /4 ; SHIM AS
(MAX.) 1/2" JT. REQUIRED
T 1T i
AT 18"0.C. /, | L
(MAX.) ; L
s | L FLA6101
y ‘ L WINDOW HEAD
CONTINUOUS ALONG | . | FLASHING (TOP)
|
BASE OF PANEL | N ELAB201
/ | . WINDOW HEAD
CONTINUOUS ALONG | S FLASHING CLEAT
BASE OF PANEL | .
L ]
/ | SEALANT
3/4" BACKER ROD | (BY OTHERS)
AND SEALANT
(BY OTHERS) SHIM AS
[ REQUIRED LINE OF WALL PANEL
(BEYOND)
\ A
S g1 "
\ 2" JT. AT 18" O.C. WINDOW SYSTEM
! (MAX.) (BY OTHERS)

FLAG6101 f
WINDOW HEAD

WINDOW SYSTEM

FLASHING (TOP) (BY OTHERS) |
FLAG201
WINDOW HEAD

FLASHING (BOTTOM)

ALTERNATE DETAIL

WINDOW HEAD DETAIL

REF. ARCH. DET. -

CONTINUOUS ALONG @ OVER SUBSTRATE
BASE OF PANEL /§
CONTINUOUS ALONG
BASE OF PANEL
RAINSCREEN ACM
PANEL SYSTEM
N
N
_ 1
i
\} i
0
N .
D) Z
> Z ’
A -z
/J' 59
]
yd
~ FRAMING
WINDOW HEAD
FLASHING (TOP)
FLA6201 WINDOW SYSTEM
WINDOW HEAD ——— (BY OTHERS)
FLASHING (BOTTOM)
1" WIDE
REVEAL STRIP

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

=
LL
I_
)
>
)
1
LL
Z
<
al
n =
—)
I<_E <
s
T
N
25 4
P L LI
20 18
)]
< EE - Zl | Z
— < o =
nkHE = L O
O o = [H
Ow o @) -
2 0 ) — I
@) n @)
w o > ha
M << o O <
DRAWN DRAWN BY | DATE
CHECKED CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
AN
NO.| REVISION/ISSUE DATE
DWG TITLE
WINDOW HEAD
SCALE DWG NO.
1"=1'-0"
REV D1




NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE

DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

A

TO BE VERIFIED IN FIELD. 45° 5/8" 45°
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH v v
SUBSTRATE AND FRAMING.
O/P HEM
5/8"
THIS DETAIL IS GENERAL IN NATURE DRIP HEM DRIP CLEAT
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS
.
EXTERIOR SHEATHING
(BY OTHERS)
FRAMING
(BY OTHERS)
h 21/8" ———= EXTRUSION (BEYOND)
RAINSCREEN ACM
PANEL SYSTEM
FLA6501
DRIP HEM DOOR HEAD
FLASHING (TOP) OVER SUBSTRATE
SEE
AT 18" O.C.
ELEVATION (MAX) 1
AT24'0C. /,
(MAX.)
= 6" —
CONTINUOUS ALONG
BASE OF PANEL
CONTINUOUS ALONG .,
BASE OF PANEL
L DRIP CLEAT FLA6601 AT 18'0.C. /,
DOOR HEAD (MAX.)
FLASHING (BOTTOM)
1" WIDE
REVEAL STRIP
1/2" JT. SHIM AS REQUIRED
AT 18"0.C. /,
(MAX.) f
AT 24"0.C. /,
(MAX.) FLA6501
y DOOR HEAD
Vs FLASHING (TOP)
CONTINUOUS ALONG
BASE OF PANEL FLA6601
/ DOOR HEAD
CONTINUOUS ALONG FLASHING (BOTTOM)
BASE OF PANEL
/ SEALANT
3/4" BACKER ROD (BY OTHERS)
AND SEALANT
(BY OTHERS) 2>, SHIM AS
{ REQUIRED LINE OF WALL PANEL
\ i (BEYOND) ]
3/4" MAX. JT. 5\ AT 18"0.C.
\ ' (MAX.) EXTERIOR DOOR
\ (BY OTHERS)
\
FLA6501
DOOR HEAD B EXTERIOR DOOR

FLASHING (TOP)

FLA6601
DOOR HEAD
FLASHING (BOTTOM)

ALTERNATE DETAIL

2 3/8"

SYSTEM DEPTH

WALL ASSEMBLY

FASTENER DESIGNATIONS

(BY OTHERS)

1

y

FRAME (BY OTHERS)

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬁkﬁ“\mﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW =
@ #10x 3/4" PANCAKE HEAD SCREW
(+)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK

DESCRIPTION

POVODDDPODOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

AT 24" O.C.
(MAX.)

g

DOOR HEAD DETAIL

REF. ARCH. DET. -

CONTINUOUS ALONG 4

BASE OF PAN

EL

CONTINUOUS ALONG 7,
BASE OF PAN

RAINSCREEN ACM
PANEL SYSTEM

EL

FLAG6501
DOOR HEAD —
FLASHING (TOP) FLAGGO1

DOORHEAD ————

FLASHING (BOTTOM)

1 1/4" WIDE
REVEAL STRIP

<6> OVER SUBSTRATE

FRAMING
(BY OTHERS)

EXTERIOR
- SHEATHING
(BY OTHERS)

EXTERIOR DOOR
(BY OTHERS)

SHIM AS

REQUIRED

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLI
—
<C
)
-
<C
—
=
=
m
D)
)
Y
O
LL
=
LL
I_
)
>
)
1
LL
Z
<
al
n =
—)
Ii: <
s
O
N
25 4
P L LI
IR R
< EE Q = =z
— < o =
n k= = L O
O o = [H
O uo @) -
E 0 ) — I
0 g 2|8
M << o O <
DRAWN: DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
A
NO.| REVISION/ISSUE DATE
DWG TITLE
DOOR HEAD
SCALE DWG NO.

1! = 1!_0"

REV D 1




NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

WALL ASSEMBLY

FASTENER DESIGNATIONS

i

(BY OTHERS)

!

/w

OVER SUBSTRATE ¢

1
=
=

AT 24"0.C. /,
(MAX.)
AT 18"0C. /,
(MAX.)
SHIM AS
CEILING ASSEMBLY < : —
(BY OTHERS) < REQUIRED
CONTINUOUS ALONG
SIDE OF PANEL <>
CONTINUOUS ALONG
SIDE OF PANEL Q
AT 18" O.C.
(MAX.) @ m
| 3
—>(
iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii | RT-2N
a JT.
e
SYSTEM |
DEPTH /\

)/\

RAINSCREEN ACM

PANEL SYSTEM EXTRUSION (BEYOND) —

3"

~— 21/8"

1"

T" 21/8" — =
1 15/16"

5/8" /
FLAG101

11/16" WINDOW HEAD FLASHING

SEALANT (BY OTHERS)

FLAG6101
WINDOW HEAD FLASHING

BACKER ROD AND
SEALANT (BY OTHERS)

LINE OF WALL PANEL
(BEYOND)

WINDOW SYSTEM
(BY OTHERS)

BACKER ROD AND 42

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW Q}m\mmﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
(8)
(1)
(o)
{1
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK

DESCRIPTION

POVVODPODOV

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

~—— 23/8" —— =

y

WINDOW HEAD DETAIL AT SOFFIT

REF. ARCH. DET. -

CONTINUOUS Q}
ALONG SIDE

OF PANEL

CONTINUOUS < :>
ALONG SIDE

OF PANEL

SHIM AS <:>
REQUIRED

RIGID INSULATION
(BY OTHERS)

OVER SUBSTRATE

. RAINSCREEN ACM
PANEL SYSTEM

FRAMING
(BY OTHERS)

EXTERIOR
- SHEATHING
(BY OTHERS)

WINDOW SYSTEM
(BY OTHERS)

. FLAG501
DOOR HEAD FLASHING

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

=

LL

I—

0P

>

0P

-

LL

Z

<C

al
n =
—®)
I<£ <C
W &
T
N Y
23 4

P L LI

oz Y S | =
Z< g S E:
— - < oY —
nkHE = L 8

@) @) = —
Ow o @) =

- — I

=0 3 wl |G
w o) r ) ha
M << o O <
DRAWN DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
NO.| REVISION/ISSUE DATE
DWG TITLE

WINDOW HEAD AT SOFFIT

SCALE DWG NO.
1| — 1'_0"

REV D 1




NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB

SPECIFIC CONDITIONS

WALL ASSEMBLY

FASTENER DESIGNATIONS

(BY OTHERS)

CEILING ASSEMBLY
(BY OTHERS)

%

OVER
SUBSTRATE

AT 24" O.C.
(MAX.)

AT 18" O.C.
(MAX.)

SHIM AS
REQUIRED

CONTINUOUS ALONG
SIDE OF PANEL

CONTINUOUS ALONG
SIDE OF PANEL

3

12t

2 3/8"
SYSTEM
DEPTH

RAINSCREEN ACM
PANEL SYSTEM

3"

~ 21/4"

1"

EXTRUSION (BEYOND) —

1"

214" ———

15/16"

o

5/8" /

11/16"

FLAG6101

WINDOW HEAD FLASHING

BACKER ROD AND
SEALANT (BY OTHERS)

FLAG501
DOOR HEAD FLASHING

BACKER ROD AND
SEALANT (BY OTHERS)

LINE OF WALL PANEL
(BEYOND)

EXTERIOR DOOR
(BY OTHERS)

/fy

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW @]l“\‘m
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW =
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
()
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK

DESCRIPTION

POVVODDPOORO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

~—— 23/8" —— =

y

DOOR HEAD DETAIL AT SOFFIT

REF. ARCH. DET. -

CONTINUOUS Q}
ALONG SIDE

OF PANEL

CONTINUOUS < :>
ALONG SIDE

OF PANEL

SHIM AS <:>
REQUIRED

RIGID INSULATION
(BY OTHERS)

. RAINSCREEN ACM
PANEL SYSTEM

OVER
SUBSTRATE

FLA6501

ISOMETRIC VIEW

FRAMING
(BY OTHERS)

EXTERIOR

—— SHEATHING

(BY OTHERS)

EXTERIOR DOOR
(BY OTHERS)

- DOOR HEAD FLASHING

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLI
—
<C
)
-
<C
—
=
=
m
D)
)
Y
O
LL
=
LLl
I_
0p)
>
0p)
1
LL
Z
<
al
n =
—)
I<_E <
s
T
N
25 4
P L LI
IR B
)]
<E é a) P prd
— < o =
n k= = L O
O o > =
Ow o @) -
:E 0 ) — I
@) dp) @)
w o ) ha
M << o O <
DRAWN DRAWN BY | DATE
CHECKED CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
yAN
NO.| REVISION/ISSUE DATE
DWG TITLE

DOOR HEAD AT SOFFIT

SCALE
1! = 1'_0"

DWG NO.

REV D 1




NOTES:

1.
2.

3.

4.

SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE

DETERMINED IN FIELD.

FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.

ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB

SPECIFIC CONDITIONS

IR D i
N M
é L
L (3) AT2¢0c. <
Lo (MAX.)
I WALL ASSEMBLY
1 (BY OTHERS)
— SN I
R ol =
j| 1 @ SHIM AS REQULRED
A AN — g - =
25 S/
';ﬁE
AL = \
‘ ! . 1
2 3/8"
PLAN VIEW SYSTEM DEPTH
I S —
_ EXTRUSION (BEYOND)
WINDOW SYSTEM |
(BY OTHERS)
FRAMING
SEALANT (BY OTHERS)
- — — (BY OTHERS)
_— ™~ EXTERIOR SHEATHING
/ L
N FLAG401 (BY OTHERS)
% -~ AN WINDOW JAMB FLASHING
/ N {6> OVER
1 1/4" REVEAL SUBSTRATE
/ STRIP 6"
/  RAINSCREEN ACM -~ 93" ﬂ
- PANEL SYSTEM
\ N AT 18" O.C. ?
(MAX.) o
CONTINUOUS ALONG i
| SIDE OF PANEL
\ @ AT 18" O.C.
= | (MAX.) CONTINUOUS ALONG FLAG401
5 = 7 SIDE OF PANEL WINDOW JAMB
\ SHIM AS FLASHING
\ REQUIRED AT 18" O.C.
= CONTINUOUS ALONG (MAX.)
SIDE OF PANEL ]
WINDOW SYSTEM - 1J’$ SEE ELEVATION -

\(BY OTHERS)

\ SEALANT
\BY OTHERS)

N FLAG401 |

WINDOW JAMB FLASHING

3/4"
—— MAX.
JT.

AT 18" O.C.

3/4" BACKER ROD AND

- SEALANT (BY OTHERS)

ALTERNATE DETAIL

(MAX.)

CONTINUOUS ALONG
SIDE OF PANEL

WINDOW JAMB DETAIL

REF. ARCH. DET. -

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬁkﬁ“\mﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW =
@ #10x 3/4" PANCAKE HEAD SCREW
(+)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK

DESCRIPTION

POVODDDPODOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE
1/4" PLASTIC HORSESHOE SHIM

WINDOW SYSTEM

WINDOW JAMB FLASHING

SHIM AS REQUIRED %

CONTINUOUS ALONG Q}
SIDE OF PANEL

CONTINUOUS <: >

(BY OTHERS) %
FLA6401 J

11/4" WIDE |
REVEAL STRIP

AV

{6> OVER SUBSTRATE

~ EXTERIOR SHEATHING
(BY OTHERS)

FRAMING
(BY OTHERS)

RAINSCREEN ACM
PANEL SYSTEM

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

=
LL
I_
)
>
)
1
LL
Z
<
al
n =
—)
Ii: <
s
O
N
25 4
P L LI
S2 0 8|
)]
< EE - Zl | Z
— < o =
n k= = L O
O o = [H
Ow o @) -
E 0 ) — I
@) n @)
w o) > ha
MNM << o O <
DRAWN: DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
A\
NO.| REVISION/ISSUE DATE
DWG TITLE
WINDOW JAMB
SCALE DWG NO.
1"=1'-0"
REV D1




NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

0l

2 3/8"
EXTERIOR DOOR
PLAN VIEW (BY OTHERS)
o BACKER ROD AND
=TT~ SEALANT (BY OTHERS)
~ | ™
S | ™ . FLAG701
A b N DOOR JAMB FLASHING
|
| N 1 1/4" REVEAL
' N\ STRIP
| ) \

\ EXTERIOR DOOR

o

(BY OTHERS) | (1)ATEOC
\ (MAX.)
BACKER ROD AND CONTINUOUS ALONG
\ SEALANT (BY OTHERS) SIDE OF PANEL
\
\ CONTINUOUS ALONG
SIDE OF PANEL
\ FLA6701 | | ap jr Lo y, "
\_ DOOR JAMB FLASHING AT 18" O.C.
2
(MAX.)
N 3/4" BACKER ROD AND

SEALANT (BY OTHERS)

ALTERNATE DETAIL

3/ n

MAX.

JT.

C AT 24" O.C. MAX %
WALL ASSEMBLY
(BY OTHERS)
SR @ SHIM AS REQUIRED
[l !
2 3/8"

SYSTEM DEPTH

~2)

EXTRUSION

(BEYOND)

FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

%3> OVER

SUBSTRATE

.~ RAINSCREEN ACM
PANEL SYSTEM

AT 18" O.C.
(MAX.)

CONTINUOUS ALONG
SIDE OF PANEL

CONTINUOUS ALONG
SIDE OF PANEL

AT 18" O.C.

(MAX.)

SEE ELEVATION

!

DOOR JAMB DETAIL

REF. ARCH. DET. -

6"

-2 3{8" ﬂ

2"

|

FLAG701

DOOR JAMB FLASHING

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬂmﬁﬁfb
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK

DESCRIPTION

POVORDDDPOOOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

SHIM AS REQUIRED <%
@ OVER SUBSTRATE

CONTINUOUS ALONG <>
SIDE OF PANEL ~ EXTERIOR SHEATHING
(BY OTHERS)
CONTINUOUS ALONG Q
SIDE OF PANEL — FRAMING
A (BY OTHERS)

DOOR SYSTEM |
(BY OTHERS) Rl /

RAINSCREEN ACM

FLA6701 J
PANEL SYSTEM

DOOR JAMB FLASHING SYS
11/4" WIDE |
REVEAL STRIP

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLl
—
<C
)
-
<C
—
=
=
m
D)
0p)
Y
O
LL
=
L
I_
(0p]
>
(0p)]
1
LLl
prd
<
ol
n =
—)
I<_( <
s
O oy
N
25 4
w L L
0z & |3 |2
< EEE Q pa =
— < o =
n k= = Ll O
O o ==
Ow o @) =
E 0 ) — I
TR 2|8
M << o O <
DRAWN: DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
yAN
NO.| REVISION/ISSUE DATE
DWG TITLE
DOOR JAMB
SCALE DWG NO.

1' = 1'_0"

REV D 1




NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE

DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB

SPECIFIC CONDITIONS

- 5 3/4" -
. 1|/2, FLAG301
WINDOW SILL FLASHING
5/8" )L /
9/16"

AT24"O.C. /,
(MAX.)

WINDOW SYSTEM
(BY OTHERS)

BACKER ROD AND SEALANT

(BY OTHERS)

FLAG6301
WINDOW SILL FLASHING

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬂmﬁﬁfb
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW |
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK DESCRIPTION

0l

SEE
ELEVATION

|

11/2"

21/2" ‘

.......

AT 18" O.C.
(MAX.)

CONTINUOUS ALONG

TOP OF PANEL

SHIM AS
REQUIRED

AT 18" O.C.
(MAX.)

—

OVER
SUBSTRATE

RAINSCREEN ACM
PANEL SYSTEM

PERIMETER
EXTRUSION (BEYOND)

FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

(LA

vvvvvvv

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

POVORDDDPOOOO

2 3/8"

SYSTEM DEPTH

WALL ASSEMBLY

(BY OTHERS)

WINDOW SILL DETAIL

REF. ARCH. DET. -

WINDOW SYSTEM

(BY OTHERS)

.

!
!
!
!
!
FLAG301 !  FRAMING
WINDOW SILL | = (BY OTHERS)
FLASHING i
N  EXTERIOR SHEATHING
(BY OTHERS)
RAINSCREEN ACM
PANEL SYSTEM {6> (S)L\J/S?TRATE
CONTINUOUS ALONG

@ SHIM AS
REQUIRED

TOP OF PANEL

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLl
—
<C
)
-
<C
—
=
=
m
D)
0p)
Y
O
LL
=
L
I_
(0p]
>
(0p)]
1
LLl
prd
<
ol
n =
—)
I<_( <
s
O oy
N
25 4
w L L
0z & |3 |2
< &‘: Q pa =
— < o =
n k= = Ll O
O o ==
Ow o @) =
E 0 ) — I
TR 2|8
M << o O <
DRAWN DRAWN BY | DATE
CHECKED CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
yAN
NO.| REVISION/ISSUE DATE
DWG TITLE
WINDOW SILL
SCALE DWG NO.

1' = 1'_0"

REV D 1




NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

DETERMINED IN FIELD.

TO BE VERIFIED IN FIELD.

SUBSTRATE AND FRAMING.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

EXTRUSION BEYOND

2 3/8"
SYSTEM DEPTH

WALL ASSEMBLY

FASTENER DESIGNATIONS

(BY OTHERS)

EXTERIOR SHEATHING

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬂmﬁﬁfb
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK

DESCRIPTION

POVORDDDPOOOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE
1/4" PLASTIC HORSESHOE SHIM

@ /\/\/\mym

WALL BASE DETAIL

(BY OTHERS)
FRAMING
(BY OTHERS)
RAINSCREEN ACM
PANEL SYSTEM
SEE
ELEVATION OVER
SUBSTRATE
AT 18"0C. /"
(MAX.)
31/2"
AT24"0C. /
(MAX.)
CONTINUOUS ALONG
h 21/8" 1 BOTTOM OF PANEL
i CONTINUOUS ALONG
5/8" BOTTOM OF PANEL
23/16" — =
9/16" AT18'0C. /,
FLA5901 (MAX.)
WINDOW HEAD FLASHING
11/4"WIDE
REVEAL STRIP
|
I
1/2" JT.
FLA5901
WALL BASE FLASHING
T~ ,\ AT18"0.C.
1B - (MAX.)
p e O SEE
d ELEVATION
Yy, o CONTINUOUS WALL FINISH
y I \ ALONG BOTTOM BELOW PANELS
]@W% OF PANEL
/ { P A\ FINISHED
/ | \ FLOOR
/ I SO \ AT 24" O.C.
. Tt 3
1/2" BACKER ROD AR \ (MAX.)
AND SEALANT
(BY OTHERS) \
| /4, AT18"0C,
| | (MAX.)
1/2" JT. /
\ + |7, CONTINUOUS ALONG
\ / BOTTOM OF PANEL
\ / / 1

FLA5901
WALL BASE FLASHING

ALTERNATE DETAIL

REF. ARCH. DET. -

CONTINUOUS ALONG 74

BOTTOM OF PANEL

CONTINUOUS ALONG

BOTTOM OF PANEL
RAINSCREEN ACM —l
PANEL SYSTEM i \HK
J\ |
!
!
' !
~
o)
N !
!
!
|
A i
|
!
\ !
!
WALL FINISH |
BELOW PANELS i
FLA5901 | |
BASE FLASHING 1
1 1/4" WIDE
REVEAL STRIP

@

@ OVER SUBSTRATE

A

FRAMING

/ ~ (BY OTHERS)

EXTERIOR
 SHEATHING
(BY OTHERS)

SHIM AS
REQUIRED

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLl
—
<C
)
-
<C
—
=
=
m
D)
0p)
Y
O
LL
=
L
I_
(0p]
>
(0p)]
1
LLl
prd
<
ol
n =
—)
I<_( <
s
O oy
N
25 4
w L L
0z & |3 |2
< &‘: Q pa =
— < o =
n k= = Ll O
O o ==
Ow o @) =
E 0 ) — I
TR 2|8
M << o O <
DRAWN DRAWN BY | DATE
CHECKED CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
yAN
NO.| REVISION/ISSUE DATE
DWG TITLE
WALL BASE
SCALE DWG NO.

1' = 1'_0"

REV D 1




NOTES:
1.
2.

3.

4.

SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.

FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.

ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW @}m\t\m@
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
()

(5)
(8)
()
(o)
()
(12)

4> CONTINUOUS ALONG

SIDE OF PANEL

AT 18" O.C.

(MAX.)

) ﬂ

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

MARK DESCRIPTION

EXTRUSION (BEYOND) —
3/4"

PANEL SYSTEM JT.

WEEP HOLES FRAMING
AT 6" O.C. (BY OTHERS)

EXTERIOR SHEATHING

(BY OTHERS)

OVER <i>%
SUBSTRATE

RAINSCREEN ACM MAX.

—~ 6" MIN.

AT 18" O.C. .
(MAX.) @ 3/4

MAX, — =
SHIM AS JT.
REQUIRED
CONTINUOUS ALONG é}
SIDE OF PANEL 1 3/4" WIDE

REVEAL STRIP

RAINSCREEN ACM
PANEL SYSTEM

|
{ I
—

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

PORVRIDPODOOO

2 3/8"

SYSTEM DEPTH

y

WALL ASSEMBLY

(BY OTHERS)

WALL SOFFIT TRANSITION DETAIL

REF. ARCH. DET. -

@ OVER SUBSTRATE

~ FRAMING
(BY OTHERS)
RAINSCREEN ACM
PANEL SYSTEM  EXTERIOR SHEATHING
(BY OTHERS)
1 5/8" WIDE
REVEAL STRIP . SHIMAS
REQUIRED

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

LLI
—
<C
)
-
<C
—
=
=
m
D)
)
Y
O
LL
=
LL
I_
)
>
)
1
LL
Z
<
al
n =
—)
I<_E <
s
T
N
25 4
P L LI
S2 0 |y
< EE 9 = =z
— < o =
nkHE = L O
O o = [H
Ow o @) -
2 0 ) — I
TR 2|8
M << o O <
DRAWN DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
AN
NO.| REVISION/ISSUE DATE
DWG TITLE
WALL SOFFIT TRANSITION
SCALE DWG NO.
1"=1'-0"
REV D1




NOTES:

1.
2.

3.

4.

SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.

FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.

ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

§:::::%?:::::::::?\\

10 1/2"

EXTERIOR SHEATHING
(BY OTHERS)

FRAMING
(BY OTHERS)

ROOF MEMBRANE
(BY OTHERS)

......

I
SHIMAS /-
REQUIRED
6"
CONTINUOUS ALONG /5
BOTTOM OF PANEL
AT 18" O.C. /,
(MAX.)
3/4" MAX. JT.
13/4" WIDE |
REVEAL STRIP
AT 18" O.C. /,
(MAX.)
CONTINUOUS ALONG
TOP OF PANEL
SEE
ELEVATION
AT 18" O.C. /"
(MAX.)
RAINSCREEN ACM
PANEL SYSTEM

EXTRUSION BEYOND

OVER SUBSTRATE ¢

VNV

AT 18" O.C.
(MAX.)

CONTINUOUS ALONG

BOTTOM OF PANEL

SHIM AS REQUIRED

1 AT 18" O.C.

2 3/8"

SYSTEM DEPTH

8 -
B —
N
—
[

g

WALL ASSEMBLY

BY OTHERS

PARAPET DETAIL

REF. ARCH. DET. -

!

(MAX.)

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW @Wﬁﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW R
@ #10x 3/4" PANCAKE HEAD SCREW
()

(5)
(8)
()
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK

DESCRIPTION

PORVRIDPODOOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-___ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

RAINSCREEN ACM
PANEL SYSTEM

@ OVER SUBSTRATE

ROOF MEMBRANE
(BY OTHERS)

CONTINUOUS

ALONG
BOTTOM OF
PANEL

FRAMING

o (BY OTHERS)

13/4"WIDE T—
- EXTERIOR SHEATHING

REVEAL STRIP I
(BY OTHERS)
CONTINUOUS ALONG SHIM AS
TOP OF PANEL REQUIRED

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

ISOMETRIC VIEW

=
LL
I_
)
>
)
1
LL
Z
<
al
n =
—)
Ii: <
s
O
N
25 4
P L LI
IR R
)]
< é a) pr prd
— < o =
n k= = L O
O o = ([E
Ow o @) -
E 0 ) — I
@) n @)
w o) > ha
MNM << o O <
DRAWN: DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
A\
NO.| REVISION/ISSUE DATE
DWG TITLE
PARAPET DETAIL
SCALE DWG NO.
1"=1'-0"
REV D1




NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE

DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

SHIM AS REQUIRED

CONTINUOUS ALONG

(BY OTHERS)
FRAMING
SLOPE (BY OTHERS)
~SLope

ROOF MEMBRANE
'v oo

8 3/4" —

EXTERIOR SHEATHING

BOTTOM OF PANEL

AT 18" O.C. 2

(MAX.)

3/4" MAX. JT.

SEE
ELEVATION

13/4"WIDE
REVEAL STRIP

AT 18"0.C. /,
(MAX.)

CONTINUOUS ALONG

TOP OF PANEL

AT 18" O.C. 1

.......

(MAX.)

RAINSCREEN ACM
PANEL SYSTEM

EXTRUSION BEYOND

OVER SUBSTRATE ¢

SYSTEM DEPTH

WALL ASSEMBLY

BY OTHERS

PARAPET DETAIL

REF. ARCH. DET. -

SHIM AS REQUIRED

AT 24" O.C.

1) (MAX)

FASTENER DESIGNATIONS

MARK DESCRIPTION IMAGE
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW ﬂmﬁﬁfb
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
(4)

(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK

DESCRIPTION

POVORDDDPOOOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-__ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-__ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

%3> OVER SUBSTRATE

ROOF MEMBRANE

/SLO/PE/V

CONTINUOUS <4>
ALONG

BOTTOM OF

PANEL

RAINSCREEN ACM
PANEL SYSTEM : _ FRAMING
I (BY OTHERS)
13/4"WIDE T
REVEAL STRIP . EXTERIOR SHEATHING
(BY OTHERS)
CONTINUOUS ALONG /5 2, SHIM AS REQUIRED

TOP OF PANEL

ISOMETRIC VIEW

(BY OTHERS) |

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

=
L
I_
(0p]
>
(0p)]
1
LLl
prd
<
ol
n =
—)
I<_E <
s
O oy
N
25 4
w L L
EEERE
)]
<y 8 Zl | Z
— < o =
n k= = Ll O
O o ==
Ow o @) =
E 0 ) — I
@) dp) @)
w o) r ) X
M << o O <
DRAWN DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
A
A
A
/A
A
A
yAN
NO.| REVISION/ISSUE DATE
DWG TITLE
PARAPET DETAIL
SCALE DWG NO.
1"=1'-0"
REV D1




NOTES:

1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.

2. ACTUAL DIMENSIONS FOR RAINSCREEN ACM PANELS TO BE
DETERMINED IN FIELD.

3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT
TO BE VERIFIED IN FIELD.

4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH
SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

ALTERNATE

FASTENER ——

LOCATIONS

_SLOPE
pe (BY OTHERS)
r

_—— —
e
e

8 1/2" -

FLA7001
COPING CAP

WOOD BLOCKING
(BY OTHERS)

FRAMING
(BY OTHERS)

ROOF MEMBRANE

. . - e c— -
— — —_— e
— . e——— s e— .

SEE

ELEVATION

AT 18" O.C.
(MAX.) < >

CONTINUOUS ALONG

FLA1401
COPING CLEAT

AT 18" O.C.

(MAX) 2

(@)

TOP OF PANEL

SHIM AS
REQUIRED

~

AT 18" O.C.
(MAX.)

—

OVER
SUBSTRATE

RAINSCREEN ACM
PANEL SYSTEM

EXTRUSION (BEYOND)

FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

! __| 21/2"

AT 24" O.C.
(MAX.)

2 1/4"

SYSTEM DEPTH

WALL ASSEMBLY

BY OTHERS

PARAPET DETAIL

REF. ARCH. DET. -

FASTENER DESIGNATIONS

DESCRIPTION
@ 1/4"-14x 2 1/2" TEK-3 STAINLESS STEEL SCREW @}m\\\mﬁ
@ #8-18x1" PHIL FLAT SELF DRILL #3 PT SCREW
@ #10x 3/4" PANCAKE HEAD SCREW
(4)
(5)
(8)
(1)
(o)
()
(12)

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

MATERIAL DESIGNATIONS

FOR SUBMITTAL DATE

MARK DESCRIPTION

POVVRIPODOOVOO

BOTTOM STARTER EXTRUSION - CONTINUOUS (DIE#-___ )
TOP STARTER EXTRUSION - CONTINUOUS (DIE#-___ )
BOTTOM MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TOP MID CLIP EXTRUSION - CONTINUOUS (DIE#-__ )
TERMINATION EXTRUSION - CONTINUOUS (DIE#-___ )
BEMO "40 MIL HT MEMBRANE

1/4" PLASTIC HORSESHOE SHIM

{6> OVER SUBSTRATE

ROOF MEMBRANE
(BY OTHERS)

FLA7001
COPING CAP Q i

FLA1401

COPING CLEAT

; FRAMING
\\M ~ (BY OTHERS)

RAINSCREEN ACM J

PANEL SYSTEM
EXTERIOR SHEATHING

(BY OTHERS)
2, SHIM AS REQUIRED

CONTINUOUS ALONG
TOP OF PANEL

ISOMETRIC VIEW

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

=
LLl
I—
(0p]
>
0p)]
|
LLl
Z
<
ol
n =
= O
I<£ <
W &
O
N
23 1
w L LLI
R ERE
Qa
<E é o) P pr
— < 4 =
0n k= = L O
O o > =
Ow o @) =
E 0 - - I
@) ] @)
w o) r ) X
M << o O <
DRAWN DRAWN BY | DATE
CHECKED: CHECKED BY | DATE
PROJECT NUMBER: ####
i\
A
A\
/A
A
A
A\
NO.| REVISION/ISSUE DATE
DWG TITLE
PARAPET DETAIL
SCALE DWG NO.
1'= 10"
REV D1




	Sheets and Views
	ASPECT-ACM-Details-LOGO (5)-CS1
	ASPECT-ACM-Details-LOGO (5)-CS2
	ASPECT-ACM-Details-LOGO (5)-FS1
	ASPECT-ACM-Details-LOGO (5)-P1
	ASPECT-ACM-Details-LOGO (5)-HORIZONTAL JOINT
	ASPECT-ACM-Details-LOGO (5)-VERTICAL JOINT
	ASPECT-ACM-Details-LOGO (5)-OUTSIDE CORNER
	ASPECT-ACM-Details-LOGO (5)-INSIDE CORNER
	ASPECT-ACM-Details-LOGO (5)-WINDOW HEAD
	ASPECT-ACM-Details-LOGO (5)-DOOR HEAD
	ASPECT-ACM-Details-LOGO (5)-WINDOW HEAD AT SOFFIT
	ASPECT-ACM-Details-LOGO (5)-DOOR HEAD AT SOFFIT
	ASPECT-ACM-Details-LOGO (5)-WINDOW JAMB
	ASPECT-ACM-Details-LOGO (5)-DOOR JAMB
	ASPECT-ACM-Details-LOGO (5)-WINDOW SILL
	ASPECT-ACM-Details-LOGO (5)-WALL BASE
	ASPECT-ACM-Details-LOGO (5)-WALL SOFFIT TRANSITION
	ASPECT-ACM-Details-LOGO (5)-PARAPET 1
	ASPECT-ACM-Details-LOGO (5)-PARAPET 2
	ASPECT-ACM-Details-LOGO (5)-PARAPET 3


